TT %; / Multipliziere Dezimalzahlen mit 10.100.1000
Name: Datum: Ergebnis:
6,147 x 10 = 2,419 x 1000 =

7,264 % 10 = 8,702 x 10 =

5,781 x 100 = 5,457 x 10 =

5,046 x 10 = 3,005 % 10 =

6,889 x 10 = 1,554 x 10 =

2,707 x 10 = 1,441 x 1000 =

2,732 x 10 = 4,25 % 10 =

7,418 x 100 = 9,353 % 10 =

7,045 x 1000 = 8,795 x 1000 =

9,874 % 10 = 5,018 x 10 =
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TT %E / Multipliziere Dezimalzahlen mit 10.100.1000
Name: Datum: Ergebnis:
6,147 x 10 = 61.47 2,419 x 1000 = 2419

7,264 x 10 = 72.64 8,702 x 10 = 87.02

5,781 x 100 = 578.1 5,457 x 10 = 54.57

5,046 x 10 = 50.46 3,005 x 10 = 30.05

6,889 x 10 = 68.89 1,554 x 10 = 15.54

2,707 x 10 = 27.07 1,441 x 1000 = 1441

2,732 % 10 = 27.32 4,25 % 10 = 42.5

7,418 x 100 = 741.8 9,353 x 10 = 93.53

7,045 x 1000 = 7045 8,795 x 1000 = 8795

9,874 x 10 = 98.74 5,018 x 10 = 50.18
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